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RGY- 40 40 30 6.2 7 8.5 39 35 | TCS- 40% 30 | SKY- 30
RGY- 45 45 35 6.2 7 8.5 44 35 | TCS- 45% 35 | SKY- 35
RGY- 50 50 40 6.2 7 8.5 49 35 | TCS- 50% 40 | SKY- 40
RGY- 55 55 45 6.2 7 8.5 54 35 | TCS- 55% 45 | SKY- 45
RGY- 60 60 50 6.2 7 8.5 59 35 | TCS- 60X 50 | SKY- 50
RGY- 63 63 53 6.2 7 85 62 35 | TCS- 63X 53 | SKY- 53
RGY- 65 65 55 6.2 3 85 64 35 | TCS- 65X 55 | SKY- 55
RGY- 70 70 60 6.2 7 85 69 35 | TCS- 70% 60 | SKY- 60
RGY- 70B 70 57 8.2 9 11 69 4 TCS- 70X 57 =
RGY- 75 75 65 6.2 7 85 74 4 TCS- 75% 65 | SKY- 65
RGY- 75B 75 62 8.2 9 11 74 4 TCS- 75X 62 —
RGY- 80 80 70 6.2 7 85 79 4 TCS- 80% 70 | SKY- 70
RGY- 80A 80 71 6.2 7 85 79 4 TCS- 80% 71 | SKY- 71
RGY- 80B 80 65 9.2 10 12 79 4 TCS- 80% 65 —
RGY- 90 90 80 6.2 7 8.5 89 4 TCS- 90x 80 | SKY- 80
RGY- 90B 90 75 9.2 10 12 88 4 TCS- 90X 75 —
RGY- 100 100 85 9.2 10 12 98 4 TCS-100x 85 | SKY- 85
RGY- 110 110 95 9.2 10 12 108 4 TCS-110x 95 | SKY- 95
RGY- 120 120 106 8.7 95 1.5 118 4 TCS-120%106 | SKY-106
RGY- 125 125 112 8.7 9.5 1.5 123 4 TCS-125%112 | SKY-112, 112A
RGY- 140 140 125 9.2 10 12 138 4 TCS-140%125 | SKY-125
RGY- 150 150 136 87 95 1.5 148 4 TCS-150%136 | SKY-136
RGY- 160 160 145 9.2 10 12 158 4 TCS-160%145 | SKY-145
RGY- 180 180 165 9.2 10 12 178 4 TCS-180%165 | SKY-165
RGY- 200 200 180 12.2 13 15.5 198 55 | TCS-200%180 | SKY-180
RGY- 224 224 204 122 13 15.5 202 55 | TCS-224x%204 | SKY-204
RGY- 250 250 230 122 13 15.5 248 55 | TCS-250%230 | SKY-230
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